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FHAHB - Ko T T JE mg/L mg/L mg/L mg/L mg/L mg/L mg/L mg/L mg/L mg/L mg/L mg/L mS/m | mg/L mg/L
T FRAE 0.5 0.5 0.5 1 0. 05 0. 003 0. 06 0. 03 0. 03 0. 03 0. 003 5 1 0. 05 0.5
H31. 4. 22 12:00 ii=pg) 27.0 20.1 [#IKHEE| PHRRE 85 7.6 5.2 7.1 7.1 7 8.9 0.81 5.6 2.48 0.39 5.21 0.761 35 45 0.21 3.4
R1.6.5 12:40 = 25.5 19.5 [#WIKHEE] MR 90 7.8 5.5 5.3 5.6 12 5.4 0. 58 3.7 1.19 0.24 3. 47 0.472 22 35 0. 07 2.7
R1.8.1 12:10 ii=pg) 38.0 24.0 [#WIKHt| MR >100 7.7 4.9 3.6 5.1 11 5.7 0.43 4.2 0.74 0.40 3. 85 0. 325 20 34 0. 08 3.0
R1.10.3 11:45 i=pg) 29.5 21.5 [#IKHE| HER 88 7.7 5.6 3.7 4.9 11 8.6 0.50 7.1 0. 65 0. 37 6. 74 0.390 28 41 0.11 3.8
R1.12.5 12:10 =g 15.0 13.0 [WRIRE R | B R 93 7.7 7.7 3.3 4.1 5 9.2 0.25 7.3 0. 80 0.18 7.13 0.216 26 41 0.19 2.7
R2.2.4 11:55 = 12.0 11.2  |fhxsEsktal e 2 >100 7.6 7.8 4.4 6.8 3 11 0.44 8.5 1.59 0.34 8. 24 0. 369 47 48 0.19 3.8
- FN 38.0 24.0 >100 7.8 7.8 7.1 7.1 12 11 0.81 8.5 2.48 0.40 8. 24 0. 761 47 48 0.21 3.8
/N 12.0 11. 2 85 7.6 4.9 3.3 4.1 3 5.4 0.25 3.7 0. 65 0.18 3. 47 0.216 20 34 0. 07 2.7
285 24.5 18.2 93 1.7 6.1 4.6 5.6 8 8.1 0. 50 6.1 1.24 0. 32 5.77 0.422 30 41 0.14 3.2
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